CSC 401/501      Analysis of Algorithms 

Definition of a tree 

1. A tree is an acyclic and connected graph. If it's non-empty then one of its 

nodes is designated as the root. 

Properties of trees 

1. A tree with n vertices has n - 1 edges. 

2. A tree is an acyclic graph with n nodes and n-1 edges. 

3. A tree is a connected graph with n nodes and n-1 edges. 
4. A tree is an acyclic graph that becomes cyclic if an edge is added. 

(So, it's an acyclic graph with the maximum number of edges.) 

5. A tree is a connected graph that becomes disconnected if an edge is removed. 

(So, it's a connected graph with the minimum number of edges.) 

